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: Change the Voice.

America was discovered by Columbus.

(A) Columbus discovered (B) America discovered by
America. Columbus.

(C) Columbus has been (D) Hyperbole.
discovered America.

: Rewrite using one of the verb as ‘gerunds’.

He impresses people. He has the knack.
(A) He has the knack of (B) People are impressed

impressing people. by his knack.
(C) He impresses people (D) None of these.
with knack.
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42
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45

46

: Combine into a complex sentence.

He completed the last page of biography. He had to submit

it to his publisher the next day.

(A) He completed the last page of biography because he
had to submit it to his publisher the next day.

(B) He completed the last page of biography as he had to
submit it to his publisher the next day.

(C) He complete the last page of biography for submitting
it to his publisher the next day.

(D) None of above.

. Select the appropriate word from the given options having

opposite meaning.

Transparent.
(A) Obvious (B) Opaque
(C) Glassy (D) None of these.

. State what the underlined preposition indicates.

My father has gone to Delhi to attend a conference.
(A) Direction (B)  Situation
(C) Place (D) Location

: Rewrite using if.

Unless he gets the message, he will not come.

(A) If he could not get the message, he will not come.
(B) If he unable to get the message, he will not come.
(C) If he does not get the message, he will not come.
(D) None of these.

- Start sentence with the root.

Money is the root of all evil.

(A) The root cause of all evil is money.
(B) Root of all evil is money.

(C) Money, which is the root of all evil.
(D) None of these.

: Change the voice.

We need a lady receptionist-cum-telephone operator.

(A) A lady receptionist-cum-telephone operator is needed
by us.

(B) We need a lady receptionist having experience of
telephone operator.

(C) A lady receptionist-cum-telephone operator 1s
required by us.

(D) None of these.
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: Insert the right articles.

.................... bird in hand is worthtwo in ............ bush.
(A) The bird in hand is worth two in a bush.

(B) An bird in the hand is worth two in the bush.

(C) A bird in hand is worth two in the bush.

(D) None of these.

: Convert the following simple sentence to complex sentence

containing an adjective Clause.

I saw a wounded bird.

(A) Isaw a bird that was wounded.
(B) Isaw a bird which was wounded.
(C) 1saw a bird who was wounded.
(D) None of these.

. Select the correct form of verb from the given options

having the similar meaning. Frail.

(A) Delicate. (B) Strong.
(C) Tuff. (D) None of these.
: Fill in the blanks with suitable preposition.
He spoke ................... ME .ivivrirraraannnns urdu.
(A) He spoke to me in (B) He spoke with me in
urdu. urdu.
(C) He spoke at me in (D) None of these.
urdu.
NAARIG gdlen
: On the basis of differences in soil & climate the
Maharashtra state can be divided into ........ different
agrocliamtic zones.
(A) 6 B) -8
(C) 5 D) 9

Do may be defined as relative properties of various soil

separates namely sand, silt & clay in given

(A) soil texture (B) structure
(C) soil depth (D) Soil horizon
: Soil separates having particle size 0.02 to 0.002 mm known
as ...
(A) coarse sand (B) fine sand
(C) silt (D) clay
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. Soil solution having pH value 4.5 indicates.

(A) Acidic (B) Alkaline
(C) Saline (D) Neural

D e is the change of volume per unit change of soil

water content.

(A) shrinkage ratio (B) plasticity index
(C) shrinkage limit (D) lower plastic limit
D e refers to the process of downward entry of water in to
the soil.
(A) percolation (B) infiltration
(C) max. water holding (D) field capacity
' capacity
: The process of transformation of solid rocks in to soil is
known as
(A) soil formation (B) disintegrations
(C) weathering (D) soil genesis

: The principal agents take part in the process of weathering

(A) temperature (B) water
(C) plants/animal (ID) all of above.

: The vertical section of a soil showing the various layers

from the surface to unaffected parent material is .....
(A) soil layer (B) soil horizon
(C) soil profile (D) no of these

Do can be defined as a presentation of the earth or part on

plain surface.

(A) map (B) cadastral map
(C) top sheet (D) none of these
: Organic compounds are non-conductors of electricity
because they
(A) Are insoluble in (B) Do not form ions.
water
(C) have low melting (D) form free radicals
point.
: Soluble salt content of soil is determined by measuring its.
(A) Electrical (B) pH value
conductivity
(C) Organic matter (D)  Sulphar content
content
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Q.No.68

Q.No.69

Q.No.70

Q.No.71

Q.No.72

(A) [Itis highly unstable. (B)

(C) Itundergoes auto (D)
oxidation on
prolonged standing.

(A) NaNO, (B)
(C) LiNO; (D)
: Dryiceis ...
(A) solid CO, (B)
(C) solid Br, (D)
: When NaCl is added to water ........
(A) Freezing point is (B)
raised
(C) Freezing point does (D)
not change

. During rusting of iron it gets .......

(A) oxidised (B)
(C) oxidised and hydrated (D)

: Plants absorb from the soil ...........

(A) capillary water (B)
(C) hygroscopic water (D)

following equation ?

: H,O, is always stored in black bottle because ...

It’s enthalpy of
dissociation is high
None of these

: The compound used in gun powder is ....

KNO,
Mg(NO),

solid SO,
solid CO

boiling point is
depressed
boiling point is raised.

reduced
hydrated

combine water
gravitational water.

: Which one of the following can be assessed by using the

X= Economic Production / Biomass Production

. Goal of extension education is -

(A) to promote income of (B)
the farmers.

(C) to promote new (D)
Crops.

-10 -

Rate of flowering
Leaf production rate

Iron
Iodine

. Which elements are useful in energy storage, transfer and

NSP
None of these

(A) Panicle emergence (B)
rate
(C) Harvest Index (D)
: Which is not an inorganic matter in the following?
(A) Magnesium (B)
(C) Fat (D)
bonding?
(A) NPK (B)
(C) NKS (D)

to promote production
of the crops.

to promote scientific
out-look.
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: The major fungi that effect food-grains in storage are -

(A) mucor (B) rhizopus
(C) candida (D) aspergillus
: Which is not a natural factor affecting soil fertility?
(A) Topography (B) Soil age
(C) Air (D) Parent material

. In case of availability of two irrigations for wheat, at which

critical stage crop should be irrigated?

(A) Tillering and (B) Crown root initiation
flowering and milking stage p

(C) Crown root initiation (D) Late joint and dough
and flowering stage

. High-yielding varieties of wheat were primarily developed

by Indian scientist by crossing- breeding traditional
varieties with

(A) American varieties (B) Mexican varieties
(C) European varieties (D) African varieties

: Which of the following is an example of kharif crop?
(A) Rice (B) Wheat
(C) Gram (D) Mustard

- Removal of stamens in an inter-sexual flower before they

dehisce is called

(A) Protogyny (B) Protandry
(C) Inducing male (D) Emasculation
sterility

: The study of fish culture 1s called
(A) Ophiology (B) Ichthyology
(C) Herpetology (D) Pisciculture

: Murrah is a high-yielding breed of
(A) cow (B) hen
(C) baffalo (D) sheep

. White Revolution is related to the increase in production of
(A) egg (B) wool
(C) milk (D) meat

- Who is called the “Father of White Revolution” in India?

(A) Hargobind Khorana (B) V. Kurian
(C) M.S. Swaminathan (D) P K. Sethi

-1] -
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: Foot and Mouth Disease is a highly contagious disease

almost exclusive to cattle, sheep, swine, goats, and other
cloven-hoofed aninals. It is caused by

(A) fungi (B) Dbacteria
(C) protozoa (D) Erus
: Anthrax is a serious disease of
(A) cattle (B) poultry
(C) fish (D) all of these
: Which of the following is the high milk yielding variety of
cow?
(A) Jamunapari (B) Murrah
(C) Holstein (D) Kathiyabari

: Which of the following wavelength of light is absorbed

maximum for photosynthesis?

(A) Red light (B) Blue light
(C) Green light (D}  Yellow light
: The science concerned with vegetable culture is called
(A) floriculture (B) olericulture
(C) horticulture (D) agriculture
. Which of the following elements is almost non essential for
plants?
(A) Ca (B) Mo
(C) Zn (D) Na
: Green manure plants used by farmers mainly belong to
(A) compositae (B) leguminosae
(C) solanaceae (D) poaceae
: The principal cereal crop of India is
(A) wheat (B) rice
(C) barley (D) sorghum
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